Subject: Ploop and LVM ?
Posted by Geonov on Mon, 23 Sep 2013 13:55:37 GMT

View Forum Message <> Reply to Message

Hi all,

For now, we used 1 LVM logical volume for each of our CT.
But with Ploop, what's the best practice ?

1 LVM for each CT (as before)

1LVM forall CT
Not LVM at all

Thanks.

Subject: Re: Ploop and LVM ?
Posted by pavel.odintsov on Mon, 11 Nov 2013 00:49:29 GMT

View Forum Message <> Reply to Message

| guess best practice is no LVM because ploop is very similar to LVM (and better then LVM).
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